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6. [Z]F A A LA (5) 2,000 2,000 0
1. 37 9 B 1 1,280 1,280 0
2. 159 n 320 320 0
3. BAALY Q100 400 400 0
7 ZIAFAS U b (5) 400 400 0
1. dRH=8H 200 200 0
2. B ALY 100 200 200 0
4.3+5A494 &9 24,123 24,170 -47
1.4 R3bs o 24,123| 24,170 -47
1.[Z]guA B3 1,155 1,202 -47
1. 0591 1,155 1,202 -47|AFE T 71AAFE 0 -47,0009913] = -47,000
2. [=]8w FAT F5(5) 15,968 15,968 0
1. dRkp8n) 2,000 2,000 0
2.1 13,968 13,968 0
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1.H]E7-4H] 57,500 57,500 0
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iijﬁ;;};:iﬁ,%ﬂ T 79 2.119.000
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1. ks8] 3,521 3,770 249 ‘;Tl% AHREARA ) w249, 000€11 ~249,000
2.+95%3 2,763 2,623 140| RAST @ 140,0009+13] = 140,000
3.9 530 440 90|, 9] E3odu] 1 90,0009 %13] = 90,000
@ 2024 049 03Y 174 213 32% 20 AREHEAA =05 AFHdzs8ha




20238t d = Al ZF oA A A

of| Ak F7443] (bt © D)
A I E ]2 ()
49| a9 | A% AngE  aisAwme | AN el | S e
5. 0823 7,788 7,769 19| AFF 9 ¢ 19,0001 = 19,000
6. 3HA) == 1] 3,480 3,480 0
7. 98 FxI] 400 400 0
4. [F]1HAY sl F3F2A(5) 16,930 16,930 0
1. dRk=8H 12,930 12,930 0
2. 9] F TG 4,000 4,000 0
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YAEVFEAIR  -3,000#13] = -3,000
o] Ho| RBCCIVE AR 1 -3,0009+1%] = -3,000
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L[z 9143 1,170 1,260 -90
1.07H] 170 260 -90| 3] FA1efn] 1 -90,000*13] = -90,000
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